
(
SynthDef("bustest", {
var sig, res;
res = In.kr(0) + 100;
sig = In.ar(0);
sig = RLPF.ar(sig, res, 0.1);
ReplaceOut.ar(0, sig);
}).play;
)

(
SynthDef("simple", {
var sig;
sig = Saw.ar(200);
sig = RLPF.ar(sig, 500, 0.1);
Out.ar(0, sig);
}).play;
)

(
SynthDef("mod", {
var sig, resfreq;
sig = Saw.ar(200);

resfreq = SinOsc.kr(0.7) * 200 ;
sig = RLPF.ar(sig, 500 + resfreq, 0.1);
Out.ar(0, sig);
}).play;
)

(
SynthDef("modstereo", {
var sig, resfreq;
sig = Saw.ar([200, 230]);

resfreq = SinOsc.kr(0.7) * 200 ;
sig = RLPF.ar(sig, 500 + resfreq, 0.1);
Out.ar(0, sig);
}).play;
)
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SynthDef("argtest", {
arg freq=100, res=820;
var sig;
sig = Saw.ar(freq);
sig = RLPF.ar(sig, res, 0.1);
Out.ar(0, sig);
}).play;
)
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SynthDef("rrandtest", {
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)
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(
SynthDef("bustest", {
var sig, res;
res = In.kr(0) + 100;
sig = In.ar(0);
sig = RLPF.ar(sig, res, 0.1);
ReplaceOut.ar(0, sig);
}).play;
)

(
SynthDef("simple", {
var sig;
sig = Saw.ar(200);
sig = RLPF.ar(sig, 500, 0.1);
Out.ar(0, sig);
}).play;
)

(
SynthDef("mod", {
var sig, resfreq;
sig = Saw.ar(200);

resfreq = SinOsc.kr(0.7) * 200 ;
sig = RLPF.ar(sig, 500 + resfreq, 0.1);
Out.ar(0, sig);
}).play;
)

(
SynthDef("modstereo", {
var sig, resfreq;
sig = Saw.ar([200, 230]);

resfreq = SinOsc.kr(0.7) * 200 ;
sig = RLPF.ar(sig, 500 + resfreq, 0.1);
Out.ar(0, sig);
}).play;
)
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(
SynthDef("argtest", {
arg freq=100, res=820;
var sig;
sig = Saw.ar(freq);
sig = RLPF.ar(sig, res, 0.1);
Out.ar(0, sig);
}).play;
)
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(
SynthDef("rrandtest", {
var sig;
sig = Saw.ar(rrand(100, 300));
Out.ar(0, sig);
}).store;
)

Synth("rrandtest");
Synth("rrandtest");
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SynthDef("randfreq", {
var sig;
sig = Saw.ar(Rand(100, 300));
Out.ar(0, sig);
}).store;
)

Synth("randfreq");
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(
SynthDef("sineroot", {
var sig;
sig = SinOsc.ar(300, 0, 0.5.sqrt).sqrt;
Out.ar(0, sig);
}).play;
)
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(
SynthDef("bustest", {
var sig, res;
res = In.kr(0) + 100;
sig = In.ar(0);
sig = RLPF.ar(sig, res, 0.1);
ReplaceOut.ar(0, sig);
}).play;
)

(
SynthDef("simple", {
var sig;
sig = Saw.ar(200);
sig = RLPF.ar(sig, 500, 0.1);
Out.ar(0, sig);
}).play;
)

(
SynthDef("mod", {
var sig, resfreq;
sig = Saw.ar(200);

resfreq = SinOsc.kr(0.7) * 200 ;
sig = RLPF.ar(sig, 500 + resfreq, 0.1);
Out.ar(0, sig);
}).play;
)

(
SynthDef("modstereo", {
var sig, resfreq;
sig = Saw.ar([200, 230]);

resfreq = SinOsc.kr(0.7) * 200 ;
sig = RLPF.ar(sig, 500 + resfreq, 0.1);
Out.ar(0, sig);
}).play;
)
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(
SynthDef("argtest", {
arg freq=100, res=820;
var sig;
sig = Saw.ar(freq);
sig = RLPF.ar(sig, res, 0.1);
Out.ar(0, sig);
}).play;
)
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(
SynthDef("rrandtest", {
var sig;
sig = Saw.ar(rrand(100, 300));
Out.ar(0, sig);
}).store;
)

Synth("rrandtest");
Synth("rrandtest");
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SynthDef("randfreq", {
var sig;
sig = Saw.ar(Rand(100, 300));
Out.ar(0, sig);
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